
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).
- Looking at them as little as possible, answer the questions.

The answers to lecture 11’s questions should be handed to me at the beginning of Monday’s lecture of April 10th. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write Lecture 11 in bold at the beginning of your answers.

Lecture 11
1st part

1.a)Which are the components of the MB?

b) What is money? Which are its components?

2. Illustrating with a graph, explain the various steps that lead to the creation of money and of MB in modern economies.

3. Explain the specific act that makes money appear in the economy.

4. Does money constitute net wealth? Explain.

5. Explain the specific act that makes money disappear from the economy.

6. Suppose that in a certain day 50b€ of new bank loans are extended, 10b€ of outstanding bank debts are repaid, 15b€ of new bonds are issued and 5€ of previously issued bonds are redeem.  What’s the change in the quantity of money in that day? Explain.

7. Explain the specific act that makes notes and coins appear in the economy.

8. Explain the specific act that makes notes and coins disappear from the economy.






2nd part
Note the three possibilities:

1st) When a bank grants credit (100€) and the agent uses the money to make a payment, and nothing else happens, the bank must back the credit with an amount of reserves equal to the value of the credit (100€).
2nd) When bank 1 grants credit (100€) and the agent uses the money to make a payment in favour of bank 2,
and bank 2  also grants credit (100€) and the agent uses the money to make a payment in favour of bank 1,
and nothing else happens, 
each bank must back their credits with an amount of reserves equal to 1% of the value of the credit s(100€).
3rd) When bank 1 grants credit (100€) and the agent uses the money to make a payment in favour of bank 2,
and bank 2  also grants credit (100€) and the agent uses the money to make a payment in favour of bank 1,
and then each recipient of the payment transfers his checkable deposits into his savings account, 
each bank ends up with no checkable deposits => no need to back the credits with any reserves.

9.”When a bank grants a credit of X$, and nothing else happens it is obliged to back it with an equal value of reserves”. Do you agree? Explain.

10. How much reserves each bank must obtain if: bank 1 grants credit of 100€ and the agent uses the money to make a payment in favour of bank 2, and bank 2  also grants credit, but of 103€, and the agent uses the money to make a payment in favour of bank 1, and nothing else happens?
In questions 11-13, assume the CB interest rate is 4%, the interest rate on savings deposits is 2% and the interest rate on credit is 6%.

11. When a bank grants credit (100€) and the agent uses the money to make a payment, and nothing else happens, what is the bank’s profit from the credit? Explain.

12. When bank 1 grants credit (100€) and the agent uses the money to make a payment in favour of bank 2, and bank 2  also grants credit (100€) and the agent uses the money to make a payment in favour of bank 1, and nothing else happens, what is the increase in the profits of each bank? Explain.

13. When bank 1 grants credit (100€) and the agent uses the money to make a payment in favour of bank 2, and bank 2  also grants credit (100€) and the agent uses the money to make a payment in favour of bank 1, and then each recipient of the payment transfers his checkable deposits into his savings account, what is the increase in the profits of each bank? Explain.







….

14. Suppose the legal R/Dep ratio is 10% and that there’s no C. It is kown that, in each day, credits granted by bank A give rise to payments in favour of other banks totaling 100M€. On the other hand, bank A receives each day payments totaling 20M€ from credits granted by other banks. Agents then keep their money in the form of checkable deposits.
Which percentage of the credit granted by bank A must be backed with reserves?

15. Assume there’s no currency circulation and a required reserves ratio of 1%.  Assume also that when agents receive payments they stick to their checkable deposits (even though these don´t pay any interest).
a) “For an individual bank the marginal cost of a credit of $100 it grants to a firm is equal to the associated logistic cost plus the interest rate times $1.” Do you agree? Explain.

b) “When an individual bank grants credits totaling $100 million during one month, it needs to acquire approximately $1 million of reserves.” Do you agree? Explain, pointing out the needed assumption for your argument to be valid.
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